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For any angle

1. For any angle ABC first of all bisect the given angle and obtain ray BD.

2. Obtain line BD using points B and D. here we also get ray opposite to ray BD as two opposite rays originating from same point represents a line.

3. Now draw a circle with centre B such that it intersects line AB at E, line BC at F, and the ray opposite to ray BD at G.

4. Draw segment EF.

5. Divide segment EF in three equal parts. [This can be done conveniently by drawing the segment of same measure separately and after dividing this new segment in three equal parts, using its division divide given segment using compass and divider]
6. Draw line GH  and line GI and let them intersect the circle at J and K respectively.

7. Obtain ray BJ and BK.
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For Right Angle

1. For right angle ABC, Draw a circle with origin B as centre such that it intersects ray BA and ray BC at X and Y respectively.
2. Again draw circles of same radius with centers X and Y such that they intersect first circle at Q and P respectively.
3. Obtain rays BP and BQ as trisectors of right angle ABC.
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For Right Angle

1. For right angle ABC, Draw a circle with centre B such that it intersects ray BA and ray BC at X and Y respectively.
2. Again draw circles of same radius with centers X and Y such that they intersect ray BA and ray BC at E and F respectively.

3. Draw circles of same radius with centers E and F such that they intersect with second circles (Circles with centers X and Y) at G and H respectively.

4. Obtain rays BG and BH to trisect angle ABC.
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For any angle

1. For any angle ABC, draw circle with centre B such that it intersects ray BA and ray BC at point P and X respectively.

2. Draw circles having equal radius with centers P and X on both the rays to get R and Z respectively.

3. Obtain midpoints of segment PR and segment XZ as Q and Y respectively.

4.  Join P and Y, also join Q and X.

5. Obtain segment RX and segment PZ

We have,

T= segment PY intersection segment RX

S= segment PZ intersection segment QX

6. Obtain ray BS and ray BT
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For angle 60°
1. For given angle ABC there are two rays ray BA and ray BC.

2. Bisect given angle and obtain ray BO.

3. Taking any point conveniently on open ray BO as centre draw a circle passing through B.
4. Let this circle intersect with the rays BA and BC at E and F respectively.

5. Draw segment EF and bisect it thus obtain points G and H.

6. Obtain ray BG and ray BH as trisectors of given angle ABC.
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 Construction Of Any Angle
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Figure 5
1. For a given angle x= angle ABC, Bisect angle ABC and obtain ray BD as bisector.
2. Obtain ray opposite to ray BD as ray BO.
3. Draw circle with centre B such that it intersects ray BD at D ,ray BO at O, ray BA at A and ray BC at C.
4. To get desired angle x/(n+1), divide segments AB and BC into n parts so as to get a and b such that Ba and Bb = nth part of AB and BC respectively.
5. Obtain rays Oa and Ob to bet desired angle aOb = x/(n+1).
► For angle ABC = 60°, angles aCB or bAB = x/n.
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Construction Of  An Angle with reference to given angle by reciprocal method.
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1. Obtain a circle with centre B and AB and BC as radii.
2. Bisect angle ABC to get line OB. 
3. To construct measure angle AXC= f x measure angle ABC where f ≤ 1,  Obtain point X on OB (B=X or B is between O and X) such that, measure segment OX= (1/f) x measure segment OB. Where, 1/f  ≥ 1.
4. Draw ray XA and ray XC to get desired angle.
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Figure � SEQ Figure \* ARABIC �6�
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